King Abdul Aziz University
Mathematics Department
Workshop 7

Professor Hamza Ali Abujabal

Faculty of Sciences
Math 110
Section 3.1+3.2
Prof h_abujabal@yahoo.com

1) lim (x S_2x +1) =

3 -3 _11 D] 13
2) Iing(3x2+x —4)=
10 2 4 D] 10
3) Iirr}(x2+3x —5)%=
1 -1 Ic]-3 D] -13
4) Iin_12(2x3+3x2+5):
_11 65 c]1 D] -1
. X?=2
5) lim =
x>-2 X —2
1 1
0 -5 lc]-2 D] >
. X*+5
6) lim =
) x>2x % +1
11 13
does not exist = = D] 3
2
7) “mw=
X —0 X“—3
_ 5 5
does not exist 3 3 D] 5
) X =1
8) lim =
) x->1x? 4 X =5
2
does not exist 3 0 D] -1
9) Iirpl»\/x3—10x +7 =
does not exist J3 4 D] V-5
_ 2
X —>—1 X —2
8
does not exist B] —E
8 8
C —_ -
3 IEI 27




X 3+ 2x

11) lim
x> -1 8—2X
does not exist B 3 3 D] - 3
10 4 10
2
12) lim X3
x>4 5+X
. 4 4 8
does not exist —5 9 D] - 9
2
13) lim X=X
x>4 54X
4 8
does not exist 0 3 D] - 3
—1_ _ -1
14) lim>_— (& =)
X —4 4—x
2 2
does not exist 0 g D] - g
lim =5
15) x—0 X2
[a] 5 [o]-5 -10 [d]o
lim X =5 _
16) 6% 2 —36
12 - - o
12 8
jim*_=30 _
17) x>6 X —0 B
1
[a]12 — 8 [d]o
12
i X +6
18)  x5ex2-36
1
[a] -12 b]- - [d]o
12
Iimx3—27
19) x-3 X —3
1
[a] 27 7 18 [d]does not exist
lim X —3
20) x-3x % 27
1 1
[a] 27 P = [d] does not exist




X +2

21 Mg
1 1
[a]12 EE 3 [d] does not exist
I x°+8
22) xl—>r[]2 X +2 B
1
[a]12 @E 8 [d] does not exist
i Xx2-3x -4
23) xl—rﬂ X —4 -
-5 b]s 5 [d] does not exist
IImx2+4x -21
24) x>3x 2 —8X +15
1
[a] -5 b] 5 S [d] does not exist
25) Ixiggl—(l—x)z -
1 1
- IEIE 0 [d] does not exist
i Ix +6-2
26) XI_I;T; X —2 B
1
o b] 12 0 [d] does not exist
27) XIirT?)x/x +X25—5 _
1 1
[a] - 10 b]- m [c]10 [d] )
. X
28) IIm———=
) 2 s
1 1
[a] - 10 b]- m [c]10 [d] m
) X =2
29) lIm—F——=
) XILT;2—\/6—x
1
[a] does not exist blo 2 d] 4
30) Iimz_— "6_)(:
x>2 X +2
1
[a] does not exist blo 2 d] 4




1-Vx -2

31) lim——=
) x>32 X +1
1
[a] does not exist blo 3 [d] 2
32) If 2x <f (x)<3x*-8, then limf (x) =
[a] does not exist [b]-4 0 [d] 4
33) Iing)x cos(x +£) =
X— X
[a] does not exist b]o 0 [d] 1
34) limx sin(l):
Xx—0 X
[a] does not exist [b] oo 0 [d] 1
X2 +1 .
35) If <f (x)<x -1, then Im(l)f (x)=
[a] does not exist b]-1 0 [d] 1
36) If 4(x 1) <f (x)<x’+x -2, then limf (x) =
[a] does not exist b]1 0 [d] 4
37) If lim! )+ _ 3 then fimf (x)=
X—> X J— X—>
[a] 0 [b]10 2 [d] 3
=N -l
38)  lim2_—* =4
X —2 2—X
3 3
does not exist -3 1 bJ - 4
3
39) "mw
X —0 X
does not exist 3
-3 D] 0
40) 1f 1im P31 then timf (x) =
x—>1x < —5f (X) Xx—1
1 2
[a] -1 b]-= -= d] 3
3 3
2
41) Iim—X2_6X +8_
x>4x“+X —20
2
@ does not exist @ 0 5 @ 1




3
42) lim X *8__
X—=>-2¥ =X _6

8
[a] does not exist = <

43) Iim{xz

+x2—2x}
x>1 X +4

o]

6
@ does not exist E

. 4x*+6x —4
lim ; —
2X -8

X —>—2

44)

[b]5

@ does not exist

. X?-2x -3
) I 2

EI does not exist

[b]-2

46) Iim\/2x +1(x?-9) _
k>3 (2X +3)(X —3)

J7 2

9 3

a]

does not exist

[d] -1

5




f(x)

: 1 : 2 :
52) If )|(I_r>Tklf (x):—E and !lgk]g(x):g,then lim

x —k g(x)
1 1 3
— _= C _3 __
@ 3 3 @ 4
53) |im—“+4_2:
x —0 X
al o blr k@
2
54) lim XX =0 _
x>-1 X +1
[a] 0 b]1 does not exist d] -7
-1 -1
55)  [im& ) =3
x —0 X
1 1 1
5 )0 = By
: : : . [ 5f (x)
56) If limf (x)=3,limg(x)=-4, limh(x)=-1, then lim +h(x) =
x -1 x -1 x -1 x—l 29()()
23 7 23
= _ -3 =
8 @ 8 8
57) If lemg(x):—4 and leir}h(x):—l, then Ixiiq,\/g(x)h(x) =
a] -2 [o] +2 2 [d] 3

58) If Ixiiqf (x):3,lxiiqg(x):—4, IXiLr}h(x):—l, then Ixim(Zf (x)g(x)h(x))=

a] 24 [o] 48 12 [d] —24




